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Lattice 3 by 2 Name:
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
927 x 78 = 669 x 51 = 864 x 95 = L
7 /7 /7 7 7/ 7 4 7 7/
/s s s /s ’ ’ ’ s s
7 7 7 7 /7 /7 7 /7 2
7 s 7 / ’ / ’ s 7
/7 Ve /7 4 e e /7 7 7
/, // /, // // // // // // // // //
7 7 7 y 4 7 7/ Y 4 Ve 7 3
/ / V2 7/ 7/ V 4 4 7/ .
7 7 ’ 4 4 / 4 4 Ve
/ 7 7 / / 7 4 4 /
d d s L7 e , 7 7 ,
/7 /7
4,
5.
4) _ 5) _ 6) _
709 x 28 = 776 x 14 = 743 x 46 =
6.
/s ’ ’ s s s ’ s s
s s s ’ /s /s ’ s s
7 7/ /7 7 7/ /7 7 7/
’ ’ z ’ ’ ’ ’ ’ z 7.
/7 7 7 7 7/ Y 4 7 7
7 7 7 , 4 /7 7/ y 4 7/ 4 7
// // // // // // // // /’ // ’ //
7 s ’ 4 4 s 4 4 / 8
’ 7 ’ 4 4 Vi 4 4 4 .
s 7/ 7 / / 7 4 4 /
7 7 V] 4 4 7 4 4 s
Ve 7 , / V4 Y 7 7
9.
10.
7) _ 8) _ 9 _
139x10= 139x15= 652 x 85 =
11.
/s ’ ’ s s s ’ s s
e 7 ' /7 7 7 4 e 7
// // // // // // // 7 //
7 7 7/ 7/ / 7 7/ 4 4 12
7 7 7 , 4 7 7/ V 4 7/ 4 7
// // // // // // // // /’ // 4 //
7/ 7 7 4 7/ Ve 4 4 /
/7 Vs 7 7/ / 7 / 7/ /
Vi 7 , / / ’ 4 7 /
7 7 V] 4 4 7 4 4 7/
7 7 V. /s 7 , 7 7
10) 11) 12)
692 x 17 = 362 x 41 = 355 x 63 =
’ ’ s s s s ’ s s
4 7 /7 /7 7 7 4 /7 /7
s /s /s s / 7 4 ’
’ s s / s ’ ’ s 7
/ /7 7 4 7/ /7 4 7 7
7 7 7 , 4 /7 7/ V2 4 7/ 4 Vs
// // // /, // // // // // // 4 //
7 s Vi 4 4 s 4 4 7
’ / s s /7 ’ 4 4 4
7 7 P / / ’ 4 / /
7 7/ Y 4 4 7 4 4 7z
/ / s ’ 7 V2 7 7
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
927 x 78 = 669 x 51 = 864 x 95 = N 72,306
9 2 7 6 6 9 8 6 4
6/// 1/// 4/// 7 3/// 3/// 4/// 5 7/// 5 // 3/// 9 2 34,119
7.7 3,7 41,7 9 3.7 0,7 0|.,” 5 8.7 2,7 4|.,7 6
//7//1//5/ //O//O//O/ //4//3//2/
4 s s ,/ 4 s / // 4 4 4 // 2
21,7217 6|, 68 4l.6l.” 6|, 9 2ol 0l 05 || 82080
// 3 // O // 6 // l // 1 // 9 // 0 d 8 // O
Vi / 7 4 4 7 / 7 7 4 19,852
5 10,864
Y 700x 28= ® 776x 14= ©) 743 x 46 =
6. 34,178
7 0 9 7 7 6 7 4 3
l//O//l// 0//0//0// 2//1//1//
1.7 4|, 0|, 8|? 1,771,716 |t 3l."8|, 6|, 2|7 1,390
|5 ,-7|0 717 7 8 2 02 2 s A 4 02 o s 5
9. 6|, 0|, 2 ol.” 8|, 8|, a 4. 21.74|,"8 8. 2,085
/// 8 /// 5/// 2 /// 8 , 7 6/// 4 /// l /// 7/// 8
9 55,420
10, 11,764
7 139 x 10= 8) 139 x 15= 9) 652 x 85 =
1 3 9 1 3 9 6 5 2 11. 14’842
0,’0,’0,’1 O,’O,’O,’1 4,’4,’1,’8
0|, 1|.,7 3,79 0l.” 1|, 3|.7 9 5|,” 8,7 0|, 6 1 22,365
;10 710 710 7 0 oL e s : R EA c
l // 0 // O // 0 2 // 5 // 5 // 5 5 // O // 5 // O
/// 3 /// 9/// 0 /// O /// 8/// 5 /// 4 /// 2/// O
10) 692 x 17 = 11) 362 x 41 = 12) 355 x 63 =
6 9 2 3 6 2 3 5 5
O,’O,’O,’1 1,’2,’0,’4 1,’3,’3,’6
l // 6 // 9 // 2 1 // 2 // 4 // 8 2 // 8 // 0 // 0
/// 4 /// 6 /// 1/// 7 /// 0 /// 0 /// O/,/ 1 /// O /// 1 /// 1/// 3
1(.7 21,7 3|,” 4 41,7 3.7 6|, 2 21,29|.”5|,”5
/// 7 /// 6/// 4 /// 8 /// 4/// 2 /// 3 /// 6/// 5
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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